2. CANCER AND CANCER TREATMENT 
Warm-up

2.1 (p. 16)

a. 3
b. 2
c. 1
d. 3
e. 2
f. 1
g. 2
h. 1

i. 2
TEXT 1

EXERCISES
2.2 Reading Comprehension (p. 19)
a. The main factors are the following: the distant places where the Native communities live, the limitations of the Native health-care system and the lifestyle influencing the body. The results of these factors lead to an increasing mortality of cancer.
b. The annual increase in the incidence of cancer was 225 between 1970 and 1990.

c. The annual increase of incidence of cancer is exceeding that of the overall Alaskan population.

d. Lifestyle has changed in terms of diet, cigarette smoking, heredity and age. Diet has become less healthy by becoming more similar to the American diet, then an increase of tobacco has been recorded. These two main lifestyle changes have brought obesity and cancer increase.

e. I is only a belief which isn’t proved yet.

f. The Natives have not been informed about the risks of changing their lifestyle, so the do not show a serious awareness of what has modified their habits and the risks they are running.

g. Alaskan women have the highest overall cancer death rate. Compared to the US population, the number of Alaskan Natives with cancer is seven percent higher.
h. Tobacco is the main culprit for the spread of cancer.

i. The number of smokers among Alaskan Natives is dramatically higher in comparison with overall national rates.

j. The incidence of lung cancer isn’t likely to decrease in the next few years. On the contrary, it is exceeding the U.S. rate by 48 percent.

k. Actually, there has been improvement in cervical cancer rates and liver cancer in children. The former improvement is due to an extensive education concerning Pap tests, the latter is due to hepatitis vaccinations, as well as water and sewer facilities in villages. 
l. For unclear reasons racial groups in the USA are differently affected with cancer.

m. It is not possible to state with certainty the reasons why cancer has increased so much. What seems to be plausible is a low fruit and vegetable consumption together with widespread tobacco use. 

2.3 Vocabulary building (p. 19)
a. hold; grasp

b. remoteness

c. incidence rates
d. slowing down/loosening
e. waned/dropped

f. lay in bed/limitations
g. water and sewer facilities
h. unabated
i. aggravating

j. fare better

GRAMMAR PRACTICE
2.4 Gapfill (p. 20)

1. she has undergone
2. has had

3. has been feeling

4. has been able

5. has found

6. has been

7. have been 

8. has been attending

9. has met

10. have been facing

2.5 Sentence transformation (p. 20)
a. Mr Johnson has been Sue’s doctor for two years.
b. Since then she has undergone surgery twice.

c. Dr Smith has been working at Hammersmith Hospital since 1987.

d. Her condition has been improving dramatically since her medication was changed.

e. During the past six months she has been feeling much better and better.

f. Ever since the diagnosis, Sue has been confident she would recover.

ACTIVITIES
2.6 Listening Comprehension (p. 21)
Type of Cancer: Mesothelioma

First diagnosed: April 2001, four and a half years ago

Symptoms: loss of energy/appetite/weight

Treated at M.D. Anderson Hospital in Houston

Surgery? Yes “an operation was performed”

Chemotherapy? The patient refused to undergo chemotherapy at the beginning, a few months later his doctor convinced him to undergo a new chemotherapy treatment.

Tumour size at time of interview: it is shrinking, it is getting smaller.

Overall condition: pretty good

Expected length of present treatment: no definite time limits/his doctor wants  to keep him on it as long as therapy continues to work well

Side effects: not too bad. The most significant is weight loss (135 pounds now), general weakness.

2.7 Writing (p. 21)

The patient has been affected by mesothelioma since he was first diagnosed in April 2001.

At that time he started to feel loss of energy, appetite and consequent weight loss.
He started his treatment at M.D. Anderson Hospital in Houston and was operated. At the beginning he refused to undergo chemotherapy, but a few months later his doctor convinced him to undergo a new chemotherapy treatment. Since then, the tumour size has been shrinking and the overall condition is pretty good, even though loss of weight and general weakness are the most relevant side effects. The doctor hasn’t established yet when the treatment can be considered finished but he is going to continue as long as it seems to work well. 
TEXT 2

2.8 Gapfill (p. 23)

a. 1

b. 3
c. 2
d. 4
e. 5
f. 6
2.9 Reading Comprehension (p. 23)

a. Treatment choice is influenced by the type pf cancer, stage of cancer, general conditions and finally the goal which may be cure, prevention or relief.

b. “Targeted therapies” means “cancer treatment”. Their main advantage is to reduce the side-effects and achieve results.

c. “Multi-modality treatment of cancer” implies the use of many treatments.

d. Vaccine treatment works by boosting the body’s own defence mechanisms.
e. Receptors are cells which are likely to bind with substances in the blood if they are not prevented from doing this by anti-angiogenic antibodies.

f. The Radiotherapy treatment works by discharging a radioactive substance directly in the cancer cell.

g. Monoclonal antibodies work by preventing cancer cells from obtaining the nutrients they need.

h. Chemotherapy is a treatment which involves the use of cancer to kill the cancer cells. This kind of treatment may involve single drugs or a combination of drugs, which can be under form of injection, drip, or pill. The drug’s action directly takes place in the blood and as a result, it is considered a systemic treatment in spite of its side-effects.
i. Radiotherapy works by putting rays with high energy into the body in order to impede the growth and evolution of the cancer cells. This kind of therapy is used to kill visible cancer cells but it is not used to eradicate cells which are already widespread in the body. Radiation can be external or internal: the former is delivered directly to the cancer cells by means of a machine outside the body. The latte is delivered by the implantation of radioactive material in the body. Finally, this treatment may be combined with other treatments.
j. Surgery is used for diagnosing cancer, determining its stage and treating it. The most common type of surgery is biopsy.

k. Biopsy works by taking a tissue sample and examining it in order to see if it is infected by cancer. In case there are cancer cells the results will be positive, in case there aren’t cancer cells ,the results will be negative. This kind of exam takes place in the expert’s office or in an outpatient surgery center.

l. Hormonal therapy is particularly indicated  for breast or prostate cancers. 

2.10 Vocabulary Building (p. 24)

a. recurrence is related to something that happens again. In the text it is referred to the prevention of new cancer cells formation.
b. Side-effects are usually bad effects of a drug on one’s body in addition to its primary function of curing a disease.

c. Binding means joining, mixing.

d. A homing device or system is able to guide itself to a target.

e. Synthetic means “man-made”, chemical or artificial, not natural.

f. Respond means react.

g. An outpatient surgery center is a medical place where surgery is performed and patients receive their treatment without staying there overnight.

h. Adjacent is referred to two things when they are next to each other.
i. Likelihood means probability.

j. Eradicating means eliminating, getting rid of something definitely.

GRAMMAR PRACTICE

2.11 Gapfill (p. 24)

1. or

2. or

3. either

4. or

5. whether
6. either

7. or

8. either

9. or

10. neither

11. nor

12. otherwise

13. or

2.12 Gapfill (p. 25)

1. otherwise

2. neither
3. nor
4. or
5. otherwise
6. either
7. or

8. or

9. or
TEXT 3
EXERCISES
2.13 Reading Comprehension (p. 27)

a. 1

b. 2

c. 1

d. 3

e. 3

f. 3

2.14 Vocabulary building (p. 28)

· Radiotherapy facilities; radiotherapy time; radiotherapy technology 
· Tumour control; tumour volume; tumour cells; tumour stage
· Resource availability; resource shortage; resource allocation; resource services
· Clinical/early/surgical/late treatment prolongation/options/provision/delay

GRAMMAR PRACTICE
2.15 Gapfill (p. 29)

a. about, from
b. from, to, for
c. to

d. between, and

e. in, with
f. on, with, for
g. for

h. in
i. on

j. with
2.16 Gapfill (p. 29)

1. for

2. to

3. for

4. to

5. to

6. on
7. from

8. to

9. from

10. of

11. in
12. of

13. in

14. for

15. on

16. for

ACTIVITIES

2.17 Speaking (p. 30)

Open answer. Suggestion
Students may say in which countries mammography is recommended only for women between forty and sixty and may make a comparison with countries where this examination is recommended for all women from 30/35 on. Then, students may discuss on the evidence of breast cancer, according to which affection is higher after sixty of age. The recommendation of certain countries can be considered immoral because it gives limitations to women’s opportunities to prevent from illness and the reasons for this is only economic. At this point students may mention all the machines and processes a mammography requires and say if all this is so expensive to limit possibilities of life.
2.18 Writing (p. 30)

Open answer. Suggestion
It is absolutely immoral. All women all over the world should be in the condition of paying for a mammography! In some countries mammography is recommended for women between forty and sixty, but results on breast cancer clearly state that incidence is higher after this age. So what should women do? The problem lies on the cost of mammography which is very prohibitive in many cases. This doesn’t allow women to detect breast cancer and above all, they risk on being affected not because they don’t want to be screened, but because they are not encouraged to.
On the whole, even though the woman’s condition has changed since the Middle Ages, she is still fighting for revenging and supporting her health and her role.
